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DES 688,573 620,655 67,918
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FO=RAUAHO AL 400,000 310,000 90,000
401 Al&HIL 20 400,000 310,000 90,000
01 Al&H| 400,000 310,000 90,000
OF0=JAH 100,000
OZ0IAHOALS 300,000
HEststE Y 3,444 1,290 2,154
101 Q124 4] 2,444 990 1,454
04 JIZLHIZ2XEE 4 2,444 990 1,454
OAIJIXNIE N2 JHl 2R
34,910& x2H «35 2,444
206 XH2H| 1,000 300 700
01 24l 1,000 300 700
OKREXN 3 94X =4 M= 1,000
DESLEHHFITAN2H 160,278 181,234 N20,956
ESs el PSESRS| 18,828 39,784 ~20,956
AL X 2e| 18,828 39,784 A20,956
101 Q12 4] 3,631 3,432 199
04 JIZLHIZ2XEE 4 3,631 3,432 199
O A HIIFEA Q2 34,9102 x2H 52 3,631
201 dBt24d| 15,197 16,352 AN 1,155
02 22249H4| 15,197 16,352 A1, 155
oO¢ZH| 1,500 %23 £ *B0L! «3CH 8,280
OA & EHIS XY 1,987
OF=PNE=IN 1,590
(@F=gnE=IN 397
OXt& A 8th| 4,930
OsEX 2,325,000 = 1CH 2,325
Ost2xt 2,605,000 = 1CH 2,605
EPSPARCPNEE=FY 141,450 141,450 0
Ot E s 138,950 138,950 0
301 LEtEAS 138,950 138,950 0
05 S22 HEEsEA2 138,950 138,950 0
o0&E+¢ 131,200
(OPIE=E=) 200,000& x40H x12& 96,000
oan=z 200,000 40 »23| 16,000
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SN I SRI(S) - NRAY - B 0fl b Soe B RS2
OJIZ2s=R= 120,000& 12 1,440
(OF=PNFSPIRTA=) 300,000& «12& 3,600
O&stz=NZ 150,000& 13| 150
OXdEEz 211,000& +2CH 422
Oof®Ez=z 956
OFAMEIIHHME A 80,000& *12l 80
202 O4Hl 29,760 28,800 960
01 =LA bl 29,760 28,800 960
O=U bl 29,760
OZ L HI 200,000& *12G »12& 28,800
O=2 ¢l 40,000 x2H 128 960
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otol ™ 309,027 338,663 229,636
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FU=SALAHYAMY 150,000 150,000 0
401 A &HIYL 2048 150,000 150,000 0
01 Al&H| 150,000 150,000 0
O=0I=JAS 50,000
O=RIAHSAIS 100,000
SIHOIHZ HHHZA2H 101,617 131,913 A 30,296
TSR ZFX 36,047 66,343 A 30,296
A Xl 2el 32,207 62,107 229,900
101 Q14| 1,816 1,716 100
04 JIZHMIZ2XEE =+ 1,816 1,716 100
OFAmX 2e|2 34,910 »1H «52 1,816
201 Let2d| 10,391 10,391 0
02 22234l 10,391 10,391 0
OF A=A 22l 5,181
@) K=3:] 1,550& %25 £ 100 3,875
O& A= X 2,400 544 m 1,306
OXtgt& el 2,605,000% «2CH 5,210
401 A EHIL 204 20,000 50,000 A 30,000
01 Al&HI 20,000 50,000 230,000
OFA M1 FH| 20,000,000& * 170 £ 20,000
EXsl22d 3,840 4,236 A 396
201 Let2d| 3,840 2,520 1,320
02 2223l 3,840 2,520 1,320
O=sXz2 7X2el 3,840
OMIIe= 300,000& «12& 3,600
O AMER 20,000 123 240
HE XA HZ=A 65,570 65,570 0
orgtEasX& 64,070 64,070 0
301 Et2A = 64,070 64,070 0
05 S-cl-eEEs2483 64,070 64,070 0
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OoJl2+¢ 200,000 19 «12& 45,600
O& o = 200,000& 19 »23] 7,600
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(OFIES g2 =1u] 25,0003 35 *23| 1,750
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HE2IZ I 57,410 56,450 960
[=2ZHI(5012H) 57,410 56,450 960
HHEFAZH 9,600 9,600 0
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01 JI22SHFF=&HI 6,600 6,600 0
OJ|22IHRF4] 550,000& «12& 6,600
04 FN2ILRFAHI 3,000 3,000 0
ORN2IHRF&HI 250,000& =128 3,000
Jl2Z | 47,810 46,850 960
201 LBt A Y| 18,050 18,050 0
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o=l 210,000& «12¥ 2,520
OAAEHI S XY 850
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Oold s esd| 100,000 = 1CH 100
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ONSA LI WA 15,000
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01 Al&| 150,000 150,000 0
OF0IH2AIY 50,000
CERIEEIPE- 100,000
ot L H RN 2 108,928 91,978 16,950
EEDEINETES 65,820 65,820 0
Ol Y SR 64,320 64,320 0
301 YsrEAS 64,320 64,320 0
05 S-2-ernas2aa 64,320 64,320 0
OO0l +g 62,320
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405 X+arE S| 2,000 10,000 8,000
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S SoHE
Hu: SHSAL
Sel NS RENLEX Chol 7 2
_ _ HE T
M« B2 - S2(3H) - MRAY - BaS e {imE=Eh
=3 354,306 420,156 65,850
SO AL Z ] 199,918 217,328 A17,410
TENLEX 199,918 217,328 A17,410
Bl 219! 21 0| ALY 150,000 170,000 20,000
401 AlEHIL 2O 150,000 170,000 20,000
01 Al&Hl 150,000 170,000 20,000
CELIET PN 50,000
OFQIH AL 100,000
R EESS 49,918 47,328 2,590
101 @l24H| 28,268 26,678 1,590
04 JIZAH2ERNSS 28,268 26,678 1,590
OSTDFH BT 14,134
OSTDFH FA02
34,9102 x22 %1802 12,568
042 8 1,566
—=olezRea 12,567,600 *4.5% 566
—MHREE 12,567,600 +3.8% 478
—ALTHE
(12,567,600 *2.67%)+(335, 5602 6.55%) 358
—-ngzs 12,567,6002 *1.3% 164
oOxo#AX BT 14,134
OB YZET2 U A2 HY|
34,9102 %22« 1802 12,568
O4tH2 & 1,566
—=olezRea 12,567, 6002 *4.5% 566
—dHREE 12,567,6002 *3.8% 478
—ALTEE
(12,567,600 *2.67%)+(335, 5602 6.55%) 358
=L 12,567,600/ 1.3% 164
201 Y2y 2,870 1,870 1,000
01 At 22l 1,320 1,320 0
OZEHFA FABN L 22 7Y
120,00024117H & 1,320
02 222 1,550 550 1,000
oZEsIA 22 1,550
OZBE5H4 H3X 4012
50,0002 %117H 2 550
OZBEsFA HeES 200, 0002 %574 4 1,000
206 TH2HI 300 300 0
01 MEH 300 300 0
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SN AR
B AL A

el NE@EHE=d (etel: =3
_ _ _ Muo
SNBSS - MBAY - BES 01l &4 24 e {imE=Eh
HEH 315,018 399,808 284,790
HEHAH B 157,000 214,200 A57,200
NS Ie=a 157,000 214,200 A57,200
TR =AY A AL 150,000 200,000 A 50,000
401 Al&HIZL=ROHYI 150,000 200,000 A 50,000
01 Al&HI 150,000 200,000 250,000
OFYU=JALY 50,000
OFQA ALY 100,000
HEstE#ELY 7,000 14,200 A7,200
206 M=l 7,000 4,300 2,700
01 M=Hl 7,000 4,300 2,700
ORMWEXLEXN =7 & Mz 7Y
500,000& *4ha 2,000
OHFAINRI| LIRFY € ME 7 5,000
NFHIHHZIXIARZ2Y 89,418 121,218 231,800
FOIOHRMFHFA 12,108 43,908 A 31,800
A=A 2el 12,108 43,908 A 31,800
101 el 24| 3,632 3,432 200
04 JIZHHZ2XHSE= 3,632 3,432 200
OFAM HIIEA 22X AURY 34,9103 +52¢ 1,816
ONRH Ms3322 AFY 34,9103 +52¢ 1,816
201 LEH2HH| 8,476 8,476 0
02 23223l 8,476 8,476 0
(©Fti=a:] 1,500& *262| Ef*100 3,900
OA&EZHI S X 1,971
OF A} g22m +2,810 1,748
O&1 132m**1,687 223
(OFEFals gl 2,605,000& =1CH 2,605
HE KR AI B FE 77,310 77,310 0
ot EsX# 75,310 75,310 0
301 LptEasg 75,310 75,310 0
05 -2l -BEEs243 75,310 75,310 0
o0l&¥=¢ 72,160
OJlz=¢ 200,000 «22H « 128 52,800
odu= 200,000& +22H *200% 8,800
Ozlo&sddg 20,000 x22H »23| 123 10,560
(OF1ESg-"g==lu] 50,0002 +63& 3,150
NS EAI B F=E 2,000 2,000 0
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M ARS
M NBOUMBE IR S
Sl HMENBAIYEN Hel
SA - HB - B2(3]) of . maS Abol e
203 LR F=&H| 2,000 2,000 0
03 AEBFAHR2F=EH| 2,000 2,000 0
OXN M2t 20,000& x10¥ 53| 1,000
O X = 2126l A 20,000& x10¥ x53| 1,000
HE2FZHI 68,600 64,390 4,210
Jl2dH(ARH) 68,600 64,390 4,210
HAEFXZH] 9,600 9,600 0
203 LR F&| 9,600 9,600 0
01 J|22H PR =AH| 6,600 6,600 0
OJ|A2HHRFEH| 550,000& x12& 6,600
04 2ASILERFEYI 3,000 3,000 0
ORN2IYERFAHY| 250,000& x12& 3,000
Jl2&Hl 59,000 54,790 4,210
201 Et2ad| 21,590 21,590 0
01 At22telyl 12,705 12,705 0
(@)l Ees=dull 9,975
OJ|2 A2 I 30,000& 134 390
Odetx3 230,000& 134 2,990
OLAR24HH] 40,0003 x13H 520
O M-l 80,0003 x352 240
O3+l 35,000& x13H 455
O AIE =2l 5,380
(OF=E=qs] 7,000 304! *13H 2,730
02 =294l 8,885 8,885 0
O3s2gH| 8,885
OJlesse3 585
OFAMNEMIZ 420,000& x12& 5,040
OblALERHE 230,000& x12& 2,760
ONSIEs = 350
(OFS = == K= 150
202 Ofbl 32,160 31,200 960
01 2WdHYI 32,160 31,200 960
O=2LH Y| 32,160
O3y 200,000& x13H 12 31,200
OZ22 0l 40,000 x2H x12& 960
405 KHAHFE S| 5,250 2,000 3,250
01 XM EZFHSHI 5,250 2,000 3,250
OolAASBI| 7 3,000,000 * 14! 3,000
ORIRAMAUANSLUIEIEE 700,000& = 1CH 700
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